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S.No. Language Question Option 1 Option 2 Option 3 Option 4
. If the liquid fuel is highly vi , the acti ired . . . -
1 English e Ue.IS -|g y,VIS(,:OUS © action require Pre-heating Cooling Mixing Vaporising
for proper burning in boiler is
o R U e U g, & Sraer | Ifd wer :
Hindi 3R R § & Td gifeT 331 CEWI CICNI]
& forg e foar g
5 English Calculate the energy efﬁci(?ncy when the input energy is 0.5 0.03 0.3 0.333
3000 J and output energy is 1000 J
o 3oll G&fdl BT UM X Od STYE Soll 3000 J 7Y SR
Hindi 0.5 0.03 0.3 0.333
33TYE il 1000 J Bl
First i
. If temperature of the source is increased, the efficiency . Tt Increases
3 English . Increases Decreases Remain constant then becomes
of Carnot engine
constant
TId BT ATIHH g1 a1 Sl &, df BHiC SoiH P fthR
Hindi Ak 1 et et & = et § HH Bl R g e gt

g RR A 8
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English

Hindi

English

Hindi

English

Hindi

English

Hindi

English

Hindi

English

Hindi

English

Hindi

Which one of the following relationship is true

fafafed & ¥ o9 91 d5y 99 B

Thermal efficiency of a gas turbine power plant as
compared to diesel engine plant is

SIS SR TG B ga § I e foorelt Ta o
AR & B

Which of the following impurity in cast iron makes it
hard and brittle.

Fra] dlel B g B It SISl 38 HOR 3R R
ST B

What is the value of the Boltzmann's cosntant

SiecorM fFadies &1 9 fhaT gt g

Which of the following is not a stage of annealing
fFafafed # 3§ SH THfeRT &1 =R 781 5

In which of the following drives, there is no slip

o 7 9 foa grga # iy 761 g1t 3|

LCV. = HCV.
+ 9H2 X 2466

LCV. = H.CV.
+ 9H2 X 2466

Pressure vs
enthalpy

odid d-H
Tt

Higher

3fferen

Silicon

8314

8314

Heating
TRH P

Open belt drive

HCV.= LCV.-
9H2 X 2466

H.CV.= LCV.-
9H2 X 2466

Pressure vs

volume

&did §-1H

ST

Lower

HH

Sulphur

TYh

1.38+10%

138+10%

Soaking

fET

Crossed belt

drive

U T S3d  HIRS dec SIed

LCV.=HCV. +

2466

LCV.=HCV. +

2466

Enthalpy vs
entropy

R W Tt

Same

REIE
Manganese
EUCIE|
1.38

1.38

Tempering
SR

Rope drive

RSIRCIEC!

H.CV. = LCV.
+ 9H2 X 2466

H.CV. = LCV.
+ 9H2 X 2466

Temperature vs
entropy
dIYH d4H
T

May be higher
or lower

3P a1 HH B
ghdl 3

Phosphorus

BRGRY

8.314+107%

8.314+10%3
Quenching
B8 BAT
Chain drive

EERCIEC]
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English

Hindi

English

Hindi

English

Hindi

English

Hindi

English

Hindi

English

Hindi

English

Hindi

English

Modulus of Modulus of
Which of the following is measure of stiffness odu .u.s © odu us ©
elasticity plasticity
: : RS &1
fFofiied § 9 & FeRdT &1 d1U 5l dr & HIUiD i
In this case, tolerance zone of hole is entirely below
Clearance Interference
that of the shaft
A H, B¢ BT Giewdr &3 Y MU & A :
= T Port  awdsia
Weight per square meter of one mm thick MS plate in
, 9.8 7.85
kg is
e ¥ ue fidt 91K t9 v wie &1 goF ufa it
9.8 7.85
HieR B
[ hine design, which t f weldi Electri
n machine design, which type of welding uses an Thermit welding ec rl(f arc
oxygen-acetlyene gas welding
T oot el R 1 ofeST Sl aRieelis oc oo FAMRD oD
9 BT YN Fcll 5 afeg

When the driving torque is more than load torque,

Accelerated Decelerated

flywheel is

wIe STSfaT < s el A 3ifd dar &, ) TS i A —

gIell 81

Product of diametric pitch and circular pitch is I 1/T1

Y U 3R TMeeR U9 o1 3dE gl M 1/

Diameteral pitch is 5, then calculate module of the gear 0.2 04

IR i 5 g, iR R & Afegd & 0T S 0.2 0.4
Diameteral

The amount of backlash depends on lametera Module

pitch

Resilience

NEINKI

Enjoying

e

6.27

6.27

Gas welding

g afegn

Constant velocity

R

None of the listed

Tivs AP

el

5

Centre distance

Toughness

SgH!

None+G35 of
the mentioned

Sfedrad # 3
e

12.55

12.55

Forge welding

IS AfeST

can't be
determined

T el fbar S

Hepdl

10

10

All of the
mentioned
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Hindi

English

Hindi

English

Hindi

English

Hindi

English

Hindi

English

yfafsear &) 7En AR St 81 IR

A pair of spur gears consist of 25 teeth pinion meshing
with a 115 teeth gear. The module is 5 mm. Calculate 280 mm
the centre distance.

TR R &t T Shel | 115 i) ardt R & 91y 25 gid

fofem AR 81 | Hiegd 5 il 81 s 3 gt 3t 280 foyefh.
O DI |

If the designation of the deep groove ball bearing is 60mm
6014, then bore bore diameter is MM.

g Y 4a sict AR HT UG 6014 8, A IR ™ somm

MM @l

Which of the following gives the polarity of the
induced emf

frafifad ¥ ¥ $9 IRd S.TATE. 3 ydigar a2l I-AIGE B Al BT aH

Biot-Savart Law

Hie &g DI g Ifcariad it
269 mm 350 mm 305 mm
269 fot. 350 fat. 305 ot

70mm 84mm 74mm

70mm 84mm 74mm

Ampere's circuital Fleming's right

Lenz's Law
Law hand rule

TR &1 URTY G & e

am g1y &1 (gw
Which of the following apparatus construction uses .
o . Voltmeter Galvanometer Generator Electric Motor
electromagnetic induction
fufaRed & @19 w1 Iuau A fagga e
! dreetieR Teaex TR foretelt &t Hiex
URUT BT JUANT AT 3|
Which of the following rules is used to identify the . . .
L ) ) ) . Flemimg's Left- Flemimg's Right-  None of the
direction of the current induced in a wire moving in a Ampere's Rule

magnetic field

Hand Rule Hand Rule mentioned
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Hindi

English

Hindi

English

Hindi

English

Hindi

English

Hindi

English

Hindi

Jep1g & B o IR & IR URT Y G0 Bt g . . .
e B P 191 Fot s o e e e ey ey ST el

3 B faw g1y &1 o8 Bl
. . i Inductive Capacitive ) .
Ohm is unit of all of the following exept Resistance Capacitance
reactance reactance
SRS Furdfea
3t g fefed aeit &t Ryarg PIRRE]
Al AL WRBu R e
The r.m.s. Value of half wave rectified sine wave is 200
. . 2828V 141.4V 111V 100V
V. The r.m.s. Value of full wave rectified AC will be
3fR. TH. TH. 1 94 A HIgS A dd BT A 220 V
. 0¥, BT 0 2828V 141.4V 111V 100V
8, AR.UH. TY. B 99 Yfdehiss T &7 7 81|
T fth f h ite ph
wo waves of the same frequency av.e opposite phase 360 180 90 0
when the phase angle between them is
TS &) SRy B} & I B faudid =R 8 § 9 I 260 180 % 0
& =R0T T HI0T Al B
The apparent power drawn by an A.C. Circuit is 10 KVA
and active power is 8 KW. The reactive power in the 4 KVAR 6 KVAR 8 KVAR 16 KVAR
circuit is
TR, wfdhe gR1 Wi Wit sryRit wfdd 10 AT 7 &R 4 KVAR 6 KUAR 6 VAR 16 KVAR
fora i 8 frdiare g1 afdhe & ufafsramia wfad g
Faraday's law of =~ None of the
D.C. Generator works on the principle of Lenz's law Ohm's law electromegnetic above

induction mentioned

PP i g o
T 1. TReR g & R IR & -l g o=l &1 faH MBI DI IR BT -
e
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English

Hindi

English

Hindi

English

Hindi

English

Hindi

English

Hindi

English

speed of
armature

The e.m.f. generated in a D.C. Generator is directly
proportional to

STATE. U ST Sex § Ial W rufas 2

Flux / pole

. constant
The armature voltage control of D.C. Motor provides ) .
torque drive drive
: TAR €ls TRIAR dleesl
St HeR BT SR e = e &l 3
giRd SiEE]
Which part of the DC motor can sustain maximum Armature ) .
. o Field winding
temperature rise? winding

ST, MeR ST S A1 U HfFHaH dIHH 3 Sl Te

PR g gl SR RS IS RIS

In small D.C. Motor up to 5 H.P., The number of poles

2 Poles 4 Poles

are
wia St Aiex d (5 . 9% &) O BT = gl ] 28d 484
If the applied voltage of a DC motor is 230 V, then

. . 460 V 230V
back emf, for maximum power developed is
gfe 31 Aer &1 SrIgad dleesl 230 V g, < faswRid 460V 230V
e Al & foT o STHTE. 3
A 200V, 10 HP, 4 Poles, 60 Hz, Y-connected induction
motor has full load slip of 5%. Then the rotor speed of 1710 rpm 1800 rpm

the motor with respect to stator is?

numbers of poles

constant voltage cosntant current

drive

CRTTAIR <ITc] QT=d

Slip winding

T

8 Poles

8 Yd

200V

200V

90 rpm

all mentioned

TR/ Yd  HER BT Yd I SR & it

None of the
above
mentioned

ESE R AR |
T

Commutator

PR

10 Poles

10 @

115V

115V

3510 rpm
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Hindi

English

Hindi

English

Hindi

English

Hindi

English
Hindi
English

Hindi

English

Hindi

Th 200 V, 10 TIUY,, 4 Ui, 60 B, Y- IS TSI

AR T 5 % B! Hdl dlS WU g1 o ®ex & Yoy J AR 1710 rpm

&1 AR T 5

The secendory winding of which of the following current

transformers is always kept closed? transformer
H Q fbd CRIBHER &I Jbet arRfST &I _

[BEIRIEE c CIESS e e

UM §g T oIl g

A feeder in a transmision system feeds power to Distributors

T URYUT JUTTel H Teh e faoiait @t 3Myfe Brar g fome
The voltage drop, for constant voltage transmission is

. . Inductors
compensated by installing
R diecs TR0 & T dieeol SMU, SHP! R IR

g feam ST gl

The material used for bus-bar should have Low resistivity

T9-9R & oW Ugad Ireeh 8- @il HH HloRIUHdr
The speed regulation of a synchronous motor is 100%
& g Sifaie Hiex &1 fd g 3 100%
A 50 Hz, 3- phase induction motor has a full load speed
2 poles

of 1440 r.p.m. The number of poles in the motor is.

TP 50 B, 3-Trol SSARH HIeR &1 U1 @IS T 1440 ,
RUTH. g1 AeR T gal &I T Bt B 4

1800 rpm

voltage
transformer

giecdl WY

Generating
stations

SRS

Capacitors

GuTRd

Low-cost

hH dlTd
50%

50%

4 poles

49d

90 rpm

power
transformer

UfeR SRIBIR

service mains

Jar gqre

Synchronous
motor

JeapIfeie iR

High softening

temperature

I TR YA

25%

25%

6 poles

6 4d

3510 rpm
step down
transformer

XU 8134
TABTER

~

all mentioned
g gt

all mentioned
g gt

all mentioned

g gt
0%

0%
8 poles

8 4d



